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pa; b qq
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1. The smallest positive integer n for 4. If Cy, G}, Cy, -+, C, are the coefficients

which in the expansion of (1 +x)", then what
, (1_[. n? is the value of C; +Cy +C3 + - + C, ?
il =
1 +i)
(@ 2"
where i=+/-1, is
(a) 2 () 2™ -1
;b)) : (@20
(o

2. The value of x, satisfying the equation

: "
10gs0ax sinX =1, Whote 0 < x <=, 18 5. If a+b+c=4 and ab+bc+ca=0, then
' what is the value of the following
n i
(@ — determinant?
12
m I a b c
3 b e a
n
o) = c ab
(c) 3
@ X (a) 32
6
(b) -64
3. If A is the value of the determinant
aq b ¢ (c) —-128
(25) b2 Co
a; by cs (d) 64
then what is the value of the following
determinants 6. The number of integer values of k,
pa; b qc for which the equation 2sin x =2k +1
pa, by gcy has a solution, is
paz bz qcj
(a) zero
(p#0or 1, g#0 or 1)
(a) pA (b) one
(b) gA
) (c) two
() (p+q)A
(d) pagh (d) four
FJY-D-MTC/66A 3 [ P.T.O.
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7. 3R a), a5, ag, -+, ag GP ¥ &, @ RO 10. 3R z <1+ %, sl i=VCI 8, R z+2 =
Z

Ina, Ina, Inag i (Hige™) ¥4 27
Ina; Inas Inag
Ina; Inag Inag (a) 1
1 M =T R7 (b) 2
(@) O @
(b) 1 @ 4
(c) 2
(@ 4 11. I A 3R B3 30 YR & AR ¢ % AB 6
FR nxn g, @ F=fafea § F FH-a1 @@
37
8. gk fyum wifilew x2? +2x+k=0 & T :
TRt 8, @ (@) A 3R B @A =IE & @ gy a9
(@) k<O WO
(b) k<O (b) A A A JFE B H F AR B
=1fee|
) k<l
" (c) A R B2 gum Fif2 % ¥ =ifgw)
(d) A 3dr B i w1 wE B S
9. Ik n=1001%, @ T
N ST ST R Mo |
logan loggn logsn loggo 12, Pm-fim Aifedl % W@ fha omee 9wa g,
% aR 1aga 30 A @Y AT wE&A &7
1 A 1 87
2
) o (a)
b 1 (b) 3
© 2 . (¢ 4
(@ 3 d) 6
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7. If a,a, a3, ,ay are in GP, then
what is the value of the following
determinant?

Inag; Ina, lnay
Ina; Inas Inag
In az In Qg In Qg

(@) O
(b) 1
€ 2

(@ 4

8. If the roots of the quadratic equation
x? +2x+k =0 are real, then

(a) k<O
(b) k<0
(c) k<1

(d) k<1

9. If n=100!, then what is the value of
the following?

gL 1 1 1
+ o —
logon logzn logyn logipp 1
(@ O
(b) 1
(c) 2
(d) 3

FJY-D-MTC/66A

10. If Z =1+1i, where i =+/~1, then what is

the modulus of Z+%?

(@ 1
(b) 2
(¢ 3

@ 4

11. If A and B are two matrices such that
AB is of order nxn, then which one
of the following is correct?

(@) A and B should be square
matrices of same order.

(b) Either A or B should be a square
matrix.

(c) Both A and B should be of same
order.

(d) Orders of A and B need not be
the same,

12. How many matrices of different orders
are possible with elements comprising
all prime numbers less than 30?
(@) 2
(b) 3

(c) 4

(@ 6

[ P.T.O.
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13. WA difT 16.?|ﬁtanx=-—%%3ﬂlxﬁ?ﬂﬂa§afﬂﬁ%,

TR P @ sin x- cosx F A FT 87
s 6
(@) —
R, &l p, g, r 3R s, 20 A TA T ft I 25
YU AN FEATE § | 59 WROE H1 sAftema 12
LERRIE Y @) =
(@) 215 ” 6
(b) 311 25
25
(d) 323
14. 3t A ik B®IRR 2 & W o ey & 1% 17. com[g—")sec(%“)mﬂﬁwm
det(AB) =det(BA) &, @ f=fafaa & ¥
FH-91 T 77 4
(a) 3
(@ A ® JEaW@ & Th THS AgE el
Gl (b) 4
(b) B AW & Th THF AHE e c) -4
=1fg)
: Gy~
(c) A 3R BIAt & 3EW@ & ThiH AR V3
BH1 91T
(d) A 3R BH GHid AR TH T80 TE 18. IR P
3 ,
! s i3
0 0 1|=0
15. _cot2xcot4x—cot4xcot6x- i g 54
cot6x cot2x
foras T B7 ?, @ x formes s 27
(a) -1 (a) 2712
(b) O (b) -3313
() 1 (c -131
d 2 (d 3d14
FJY-D-MTC/66A 6
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13. Let

P g
r s

A=

where p, q, r and s are any four
different prime numbers less than 20.
What is the maximum value of the
determinant?

(a) 215
() 311
© 317
(d) 323

14. If A and B are square matrices of order
2 such that det(AB)=det(BA), then
which one of the following is correct?

(@) A must be a unit matrix.
(b) B must be a unit matrix.

(0 Both A and B must be unit
matrices.

(d A and B need not be unit
matrices.
15. What is
cot2x cot 4x —cot4x cotbx —cotbx cot 2x
equal to?
(a) -1
(b) O

(c) 1
(d) 2

FJY-D-MTC/66A

16. If tanx=—4§ and x is in the second

quadrant, then what is the value of
sinx-cosx?

@ o=
w2
@ -2
@ -2

17. What is the value of the following?

(71:) (Sn)
cosec| — |sec| —
6 3

(@)

Wl

(b) 4

(c) -4

(@) -—

18. If the determinant

X3
Q 0«11=0
I x4

then what is x equal to?

(a) -2 or 2
(b) -3 or 3
(¢ -1 or 1
(d) 3 or 4

[P.T.O.
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19. tan31° tan33° tan35° .- tan 57° tan 59°
H1 HH F91 87

(a) -1
(b) O
€ 1

(d 2

20. 3If

1 x x+1
flx)=] 2x x(x=1) x(x+1)
3x(x-1) 2(x-1)(x-2) x(x+1)(x-1)

2, @ F=1) + £(0) + £(1) Fras ser 27
(@) O

() 1
(c) 100

(d -100

21, gHi# sin ! x—cos™! x = % H1/%

(a) Eﬁﬁﬂﬁ’fﬁ%
(b) THEH B
(c) ATAR

(d) EET T &

FJY-D-MTC/66A

22. (sin24°+ cos66°)(sin 24° - cos66°) 1 A
1 87

(@ -1
(b) O
(c) 1

(d 2

23. & s, et THis g9 % FE W 120° H
oy 37afa w B 1 Sfhan 6t =g fra 27

(@) 2 -1%1%
(b) J3-1%F1
(€ 2 =R

(d) 3 T

24. (1+cotd—cosech)(l +tan@+sech) foha®
TR 27

(@) 1
(b) 2
() 3

@ 4
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19. What is the value of the following? 22. What is the value of the following?

tan31° tan33° tan35° .- tan 57° tan 59° (sin24° + cos66°)(sin 24° — cos66°)
(@) -1 (@ -1
(b) 0O (b) O
¢ 1 (¢ 1
@ 2 (@ 2
20. If

23. A chord subtends an angle 120° at the
centre of a unit circle. What is the

1 x x+1 length of the chord?
flx)=| 2x x(x-1) x(x+1)
3x(x-1) 2(x-1)(x-2) xx+1)(x-1) (a) 2 -1 units

then what is f(-1) + f(0) + f(1) equal to? (b) 3 -1 units

(@ O (c) 2 units
(b) 1 (d) 3 units
(c) 100

@ -100 24. What is

(1 +cotB —cosech)(1 + tan 6 +sec6)

21. The equation sin} x—cos'1x=% has equal to?
(@) no solution (@ 1
(b) unique solution (b) 2
(c) two solutions (c)' 3
(d) infinite number of solutions (d) 4
FJY-D-MTC/66A 9 [PR.O
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2 L 2
25. 1+tan 9_[1 tanB] mw%?
1+cot?0 1-cotB

(@) O
(b) 1
(c) 2tan®

(d) 2cot®
26. 2 cm O H YN A Th GH FEYS H
R0 1 87 ;
@ 3
Lo

€ —

(@ —

27. 3fe 7sin0+24cosf8=25 B, Gl

(sin 8 +cos6) &1 9= 41 &7
(@ 1

26

) 25

(c)

8o

31
=

FJY~D-MTC/66A

28. 6 m @l U% g frdl Fwaim weee & i

A 6 m R & fag 7% vded ?) diE F R
Q, wwee F MY F IFTH 9 75° B EEE

$ =g = R7
(@ 12 m

(b) 9 m
(c) 6++3)m

(d) 6+3V3)m

29, 59 g4 &1 IAF FU 45° 7, 79 TR T A

WS, 60° I9FF HIU | a4 arell WaTE A
x MR s w=h B IR T H FER
53 ++/3) m ®, A x foras =ueR 77

(a) 8 m
() 10 m
() 12 m

(d 15 m

30. 3R 3cos8=4sin6 B, @ tan(45° +6) H

o 187

(@ 10

(b) 7

(c)

N~

(d)

£
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25. What is 28. A ladder 6 m long reaches a point 6 m
below the top of a vertical flagstaff.

1+tan29_(1~tan8)2 From the foot of the ladder, the

1+cot?8 1-cotB elevation of the top of the flagstaff

is 75°. What is the height of the

equal to? flagstaff ?
(@ O (@ 12 m
(M) 1 (b) 9 m

, () 2tan6 (©) 6+v3)m
(d) 2cotB

(d) 6+3vV3)m

26. What is the interior angle of a regular

octagon of side length 2 cm ? 29. The shadow of a tower is found to be

7 x metre longer, when the angle of
(@) 2 elevation of the sun changes from
60° to 45°. If the height of the tower is
i 3n 5@ ++/3) m, then what is x equal to?
(b) .
(a) 8 m
3
(c) % (b) 10 m
c) 12 m
i (c)
() =
8 (d 15 m
27. If 7sin®+24cosb =25, then what is 30. If 3cosb6=4sin6, then what is the
] the value of (sin® +cos6)? value of tan(45° +6)?
(@) 1 (a) 10
. 26
b) — b) 7
(b) e (b)
6 WL
(c) = (c) 5
31 7
d — )
(d) T (d) =
FJY-D-MTC/66A 11 [ P.T.O.
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31 tan Tx oot T x =04 ga 34. iy ABC #1 &=wa w0 g, T sl
2 a=10cm, ¢ =4 cm 3T %V B =30° 87

(a) xeR
(b) %6 xe R—(-1,1) (a) 16 cm?
(c) ¥ad xe R-{0}
(b)) 12 cm?
(d) %@ xe R-[-1,1]
(c) 10 cm?
32-wi%tanA=%%,?hcoszAﬁm&sm%?
(d) 8 cm?
24
(a) '2“5‘
(b) % 35. et we W AR Hift
1. A={,35 3 B={24,7 T
12 Y= gl
@ 3 o 2. A={1,509 ¥ B={1,55,9,09 ¥
= g
@ &
&3 Iofe ol 3 A -/ v 2/
(a) Faa 1
33. @ By it yod m, n 3 Vm? +n? + mn
21 3a Bys & =il #1 Aeea w0 87
(b) Fa@ 2
(a) 45°
e : (c) 1 3R 23t
(c) 75° et 1
(d) 90° T gour ! oeaslfeRt (d F@1AMIE2
FJY-D-MTC/66A 12
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34. What is the area of the triangle ABC

31. tan~! x+cot™! x =~ holds, when ; g
2 with sides a=10 cm, ¢=4 cm and

angle B =30°?
(@) xeR
() xeR-(-1,1) only (a) 16 cm?
() xe R-{0} only B 12 cm?
(d) xe R-[-1,1] only
(c) 10 cm?
1 .
32. If tanA= w then what is cos2A @ 8 cond

equal to?

24
(a) 25

18 35. Consider the following statements :
(b) o5

12 1. A={1,35} and B={24,7} are
(c) 25 equivalent sets.

Z 2. A={1,59) and B={,550909
(@) 55 are equal sets.

Which of the above statements is/are

33. The sides of a triangle are m, n and correct?
m? +n? +mn. What is the sum of
the acute angles of the triangle? fa) 1 only
(a) 45°
(b) 2 only
(b) 60°
(c) Both 1 and 2
) =78"
(d) 90% ~ &IEEME LS G (d) Neither 1 nor 2
FJY-D-MTC/66A 13 HANTUN PTIO
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36. Frfafaa s w fa=mr Fifv 38. fr=faRaa wyal w fmr Hifs

1. T wg=, YT Gg=d F 306 B l. @ %ed f:Z>Z, S fl)=x+1
T wfenfya R, WA R F w-Ey
2. Wo% YA 9l € ST R PRLEEn oY 4
3. 3R el wg= & 10 ¥awa §, @ W 2. T %@ f:NoN, 1 flx)=x+1
qd 9=d (TR W) A 1024 g9 T whonfia 2, A 3 e oTeeTeE
Ll Td R
I woE H ¥ FH-8 T E? S i T
(@) %« 1 32 (@) Faa 1
(b) ¥ 2 ¥R 3 (b) F9 2
(c) 1323
() Faa13R3

(d TF@1smId2
(d 1,23R3

39. T 9y ¥ Z % ded 1 F=fefaa w fomm

Hifvm
37.WFhﬁ1QRQ$ﬁﬁH%thRy%Wﬁﬂﬁ 1 i:’Z_'T)—(E)'l
gierfia 2 3} o Faw Ak 2x+3y =20 ], : e
g §7
I § A HA-a1/A w2 /€7
(@ 2 -
(a) Faa 1
b) 3
£ (b) FHad 2
)5 (c) 1 3R 23
(d 6 (d Jd1Mmad2
FJY-D-MTC/66A 14
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36. Consider the following statements :

1. The null set is a subset of every
set.

2. Every set is a subset of itself.

3. If a set has 10 elements, then
its. power set will have 1024
elements.

Which of the above statements are
correct?

(@) 1 and 2 only

(b) 2 and 3 only

() 1 and 3 only

(d 1,2 and 3

37. Let R be a relation defined as xRy
if and only if 2x+3y=20, where
x,ye N. How many elements of the
form (x, y) are there in R?

(a) 2

(b) 3

c) 4

(d) 6

FJY-D-MTC/66A
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38. Consider the following statements :

1.

A function f:Z — Z, defined by
f(x)=x+1, is one-one as well as
onto.

A function f:N — N, defined by
f(x)=x+1, is one-one but not
onto.

Which of the above statements is/are
correct?

(a) 1 only

(b) 2 only

(c) Both 1 and 2

(d) Neither 1 nor 2

39. Consider the following in respect of
a complex number Z :

b

2.

=)

227 =|1z)?

Which of the above is/are correct?

(a) 1 only

(b) 2 only

(c) Both 1 and 2

(d) Neither 1 nor 2

[ P.T.O.
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40. Tt @3 wfMy den Z % e A fefufaa 43. 3Rt wfiFw 5x2 +26x+k=0 F W T,

F W o s TE A 1 FHA ¢, Al k H AH =87
1. Z 3R 39% Ggeft o1 o u ftemfea
& R (a) 2
2. Z 3R @d gt A1 AT T ardfae
e R (b) 3
I HeAl § A BE-w/A w@ /87 (c) 5
(a) Fad 1 (d 8
(b) Fad 2
3R 2 gH1
I o 44. 8 Reerfedi § A 5 RaaTedl B w dm B
(d F@ 1WA 2 foran TR | g1 S weRal R aife foRdt forei
Taenet =t e 7€ fran sme?
41. gfy dE&m 2" (-i)2* ! % A W@ R, (@ 42
Weine N3lRi=/-1%?
s (b) 35
(b) 1 (¢ 21
2
(€) 2 a0
(@ 2
42, 3l o 3R B wfFEW 4x2 +2x-1=0 F 7 45. (1+4x+4x2)° & R ¥ 97 9 F
2, o fr=forfea 3§ @ SF-u od 27 w1 87
e A
L i e (a) 8064
(b) B=4a?-3a (b) 4032
(c) B=a?-3a (c) 2016
(d) B=-2a2+20 (d) 1008
FJY-D-MTC/66A 16
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B

40. Consider the following statements in 43. If one root of 5x?+26x+k=0 is
respect of an arbitrary complex reciprocal of the other, then what is
number Z : the value of k?

1. The difference of Z and its
conjugate is an imaginary (@) 2
number.
(b) 3
2. The sum of Z and its conjugate is
a real number. (© 5
Which of the above statements is/are
correct? (d) 8
‘ (a) 1 only
(k) = only 44. In how many ways can a team of
(c) Both 1 and 2 S players be selected from 8 players
) so as not to include a particular
(d) Neither 1 nor 2 player?

41, What is the modulus of the complex (a) 42
number i?"*!(=i)?*~!, where ne N
and i=+/-1? (b) 35
e © 21
(b) 1
© 2 (d) 20
(d 2

45. What is the coefficient of the

42. If a and P are the roots of the equation middle term in the expansion of
4x? +2x-1=0, then which one of the (1 +4x+4x2)5?
following is correct?

’ (@) B=-202-20 (a) 8064

(b) B=4a?-3a (b) 4032

() B=0o?-3a (c) 2016

(d) B=-202+2u (d) 1008
FJY-D-MTC/66A 17 3 [ P.T.O.
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46. C(n, 1)+C(n, 2)+ - +C(n, n) frad =Tk 49, Fr=fafias Fu w fER fifv
&7 1. af fh GP ¥ ¥F T 9 9 AW

A o
(@ 2+22%+23 4+... 42" T | on R S, 9 gRomH s

i GP @ g
2. af frfi GP % y® W F g9F IR
(b) 1+2+2% +23 +... 42" den ¥ Rt fen s, A gfomh
3rg6A +ft GP € B
(€ 1+42+22 423 +...42""1 I FEl H A PA-E1/R T R/E7
(@) F9d 1
(d 2+22 +23 4+... 42071
(b) FEA 2
(c) 1 3R 23H
47. (1+x2" % war #, g R sifm @ F () AR 1dAh2
o 1 A R, S n T
7
4 50. 3R = A Fgh A FER @, @ 1, 2,
@l A 3, 4, 5 IH F @M W Fr 5-FFA
AW GEATd S8 ST whdl 27
(b) 2
(@ 5
B () 4
(d) 2n () 3
(d O

48. 3f2 frdt AP &1 e T 2 B, 3R v =
@ F ATEE, Wad Ui & & Anea H
g % aUR P, q UEA W & H
AThe 27 R

(@ x?-5x+4

51. 7R flx+1)=x2-3x+2 B, @ flx) FFES

(@) -500
b) 250 (b) x?-5x+6
(C) 500 {C) x2 +3x+3
(d) 250 (d) x%-3x+1
FJY-D-MTC/66A 18
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46. What is Cn1)+C(n 2)+--+C(n n)
equal to?

(@ 2+22+23%+... 42"

() 1+2+22+23 +... 42"

© 1+2+22 423 +... 427}

(d) 2+22% +2% +... 42771

47. What is the sum of the coefficients of
first and last terms in the expansion
of (1+x°2", where n is a natural
number?

(@ 1
(b) 2
(c) n

(d) 2n

48. If the first term of an AP is 2 and the
sum of the first five terms is equal to
one-fourth of the sum of the next
five terms, then what is the sum of
the first ten terms?

(a) -500
(b) 250
(c) 500

(d) 250

FJY-D-MTC/66A 19

49, Consider the following statements :

1. If each term of a GP is multiplied
by same non-zero number, then
the resulting sequence is also
a GP.

2. If each term of a GP is divided by
same non-zero number, then the
resulting sequence is also a GP.

Which of the above statements is/are
correct?

(@) 1 only

(b) 2 only

(c) Both 1 and 2
(d) Neither 1 nor 2

50. How many 5-digit prime numbers can

be formed using the digits 1, 2, 3, 4, S5
if the repetition of digits is not
allowed?

(@ S
(b) 4
fc) 3
(@ ©

51, If f(x+1)=x? -3x+2, then what is f(x)

equal to?

(a) x2 -5x+4
(b)) x%-5x+6
() x%+3x+3

(d) x%-3x+1

[P.T.O.
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52. 9 x2, x, -8 AP # &, @ fr=foRas §
P91 T _7

(@) xe{-2}
(b) xe({4}
() xe{-2 4}

(d) xe{-42}

53. fFft GP %1 dwu W 3 | W wEw uiE W&
1 UFHE 1 87

(a) 81
(b) 243
(c) 729

(d) @ty stwel % wwo fuifa T8 e
1 Gl

54. 7 FR ¥ & wre $i i 9 AW jd
wW § Ega 2(i + j) F TR ¥ 7 4l
%1 7 1’7
(a) O
(b) 2

(c) 4

(d) 6

FJY-D-MTC/66A

.20

55. §&41 2, 4, 6, 8 T WM W IV = @

T ot gva R =9 s €1 W@ aft
ARl F 7ET F1 IE =1 87

(@ 128
(b) 64
(c) 32

(d o

56. 39 4x2 +4y? -20x+12y-15=0 R

frem =0 ?7
(@) 14 5
(b) 10'5 TFK
©) 758

(d) 358

57. T wai 9gds % = FAvE@ W (-3, 4),

(0, —4) R (5, 2) &1 3w <Nen ¥ R
(@ (2, 10)
(b) (2,9)
(c) (3,9)

(@ (4, 10)
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52. If x?, x, -8 are in AP, then which one
of the following is correct?

(@ xe{-2}
(b) xe {4}
() xe{-2 4}

(d) xe{-4,2}

53. The third term of a GP is 3. What is the
product of its first five terms?

(a) 81
(b) 243
() 729

(d) Cannot be determined due to
insufficient data

54. The element in the ith row and the
Jth column of a determinant of third
order is equal to 2(i+ j). What is the
value of the determinant?

(a) O
(b) 2
(c) 4

(d) 6

FJY-D-MTC/66A 21

55. With the numbers 2, 4, 6, 8, all the
possible determinants with these four
different elements are constructed.
What is the sum of the values of all
such determinants?

(a) 128
(b) 64
(c) 32

(d) ©

56. What is the radius of the circle
4x? +4y? -20x+12y-15=07?

(@) 14 units
(b) 10'5 units
(c) 7 units

(d) 3-5 units

57. A parallelogram has three consecutive
vertices (-3, 4), (0, -4) and (5, 2). The
fourth vertex is

(@ (2,10)
(b) (2, 9)
(¢ (3, 9)

(d) (4, 10)

ST PITO.
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58. IR Y@ y+ px =1 3N y—gx =2 TR & 61. fg (p, p-3), (g +3, 9 3R (6, 3) F W &
%, @ f=fafea 3 3 FF-w v ¥7 Frfefaa st w fam ifv

1. 3 fog v wa @ w e 2

LR A 2. p o g% Fedl o T B R A frg
T e yod wgata § R B
(b)) p+g+1=0
I HYE! § A BH-A1/8 w0 8/e7
(0 pg-1=0 (@) Fad 1
(b) FaE 2
d p- =0
S (c) 1 3R 23

(d @ 13MmAA2

59. 3% AP % A, B 3R C & @ wa @
Ax +2By + C = 0 #m & Faa forg @ 62. x-2=0 3 Bx-y-2=0 Y@t & d=

et 7 Fr g 1 =R 1 ¥
@@ (,0) (a) ©°
() 1, 1) () 98]
(c) 45°
© (1,-2)
(d) 60°

(@ (1, -1)

63. T T ABCD % Tyl @ wirse fag J

60. af et avr Y 3 (4, 2) forg @ wfafena Hﬁﬁ%m%aﬂtmuai:ﬂﬁmm 2) W &1
(4, -2) %, 1 2o Y T wfe w0 7 fel BD @1 w1 &7
(a) 2x+y=0
(@) y=x
(b) y=2x (b) 2x-y=0
(c) 4y=x © () x+2y=0
B e (d) x-2y=0
FJY-D-MTC/66A a2
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58. If the lines y+ px=1 and y—-gx =2 are

perpendicular, then which one of the
following is correct?

61. Consider the following statements in

respect of the points (p, p-3), (@+3, q)
and (6, 3) :

1. The points lie on a straight line.

(a) pg+1=0
2. The points always lie in the first
quadrant only for any value of
(b) p+q+1=0 pand q.
Which of the above statements is/are
() pg-1=0 correct?
) s (a) 1 only
psgtl=
(b) 2 only

(c) Both 1 and 2

59. If A, B and C are in AP, then the (d) Neither 1 nor 2

straight line Ax+2By+C=0 will
always pass through a fixed point.

62. What is the acute angle between the
The fixed point is

lines x-2=0 and /3x-y-2=07?

(@) (0, 0) (a) 0°
(b) (-1, 1) (b) 30°
© (1, -2) (c) 45°
(@ (1, -1) (d) 60°

63. The point of intersection of diagonals of
a square ABCD is at the origin and
one of its vertices is at A(4, 2). What is
the equation of the diagonal BD?

60. If the image of the point (-4, 2) by a line
mirror is (4, -2), then what is the
equation of the line mirror?

(@) y=x (@ 2x+y=0
(b) y=2x () 2x-y=0
(c) 4y=x (© x+2y=0
(d) y=4x (d x-2y=0

FJY-D-MTC/66A 23 [P.T.O.
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64. 7k w fiwEeE (FEuEen) | FR g 66. A 2 Wil ¥ fiw w ww F R, FEH

(3tan®, 2sech) &, @ HfrwEe A b= feg-3rqama (6, 3, 6) 3R (3, 3, 0) &7
¥ 87 g
e @ =
3 (b) %
4
2

(c)

wl|a

(@)

(S

(c)

=
—

(d) V13 67. IR Y@ x-1=2(y+3)=1-2z F KF-FEEA l

2 L, m, n¥ @1 +m? +n* e w0 A7
(@ 1
11
65. TF F-F12 (I o) N IFHA (e) F 0) —
wef # frefafas w fomm Aifs
s iﬂ%ﬁ?‘le=0 (c} 1_3_
27
2. WaA Ffawe=1
3. éﬁgﬂaime(l (d) 4
g | FH-A w87
68. y-3I W A(L, 7, -5) IR B(-3,4,-2) &
(a) Fae 1 3R 2 e I YarEe F U8 F:1 27
5
(b) ¥ 2 3 3 (@)
(b) 4
(c) %A« 1 3R 3 © 3
(d 1, 23R3 (d 2
FJY-D-MTC/66A 24
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64. If any point on a hyperbola is 66. What is the angle between the two lines

(3tan®, 2sec6), then what is the having direction ratios (6,3, 6) and
eccentricity of the hyperbola? (3,3,0)?
T
3 (@ —
a) — 6
(a) 5
n
i (b) 3
(b) —~ '
. 0 =
3
J11 n
c) — d) —
(c) 5 (d) 5
J13 67. If [, m, n are the direction cosines
(@ 2 of the line x-1=2(y+3)=1-2, then
what is [* +m* +n? equal to?
(@ 1
65. Consider the following with regard to (b) =
eccentricity (e) of a conic section : 27
13
1. =0 for circle c) —
g (e 27
2. e=1 for parabola
(d 4

3. ex<l1 for ellipse

68. What is the projection of the line
Which of the above are correct? segment joining A(L 7,-5 and

B(-3, 4, -2) on y-axis?
(a) 1 and 2 only

(@ S

{b} 2 and 3 only {b} 4

() 1 and 3 only (c) 3

(d) 1,2 and 3 d 2
FJY-D-MTC/66A 25 [P.T.O.
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69. k % ¥ W wrl A won el ¥, R 7o, Bl wRm 3 =d+B, 5@ [d|=1B|#0 }, %
f (k1,3 M (1 -2k+1) Frgat =

Heyf & Ffafaa woEi  fo=m Hifg

Sred areh @ (15, 2, —4) fag A f A ¥

ks 1. ¢, @d-p)mea R

St i 2. 3,(3x3)qtéa%|

() TH

(c) A it el 3 Q@ F-T/A T B/E?

s g (@ Fad 1
70°@ﬁ?\sﬁmﬂﬁx+y+z=3mlﬁ%ﬂqm (b) ¥aa 2

& UE ?

(@ (0, 1, 2) c) 1 3 232H

(b) (0, O, 3) PRI~

) (1,1,1)

{d) (_13 1; 3)

71. @ ¥R 7 =ai+b}, x AR y I wE@ W 73. 3R @ 3 b W YR F A wlw ¥

S L O S I M @+B|=[d-D|=4 ?, A PR & d
2 3 B, A a 3R b F AE HHA: w0 E7? FA-H1 W 27

@ 33 @) 2 3 b v @ T AR AR R
0 (b) 39 W & b % GAIR A =YY

NN}
(© 2,2 (c) @ EwEd b W e e =y
d 2,2 (d) 3o ¥Ew@ @ b ¥ T A =R
FJY-D-MTC/66A : 26
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69. What is the number of possible values

of k for which the line joining the
points (k,1,3) and (1, -2 k+1) also
passes through the point (15, 2, —4) ?
(a) Zero
(b) One
(c) Two

(d) Infinite

70. The foot of the perpendicular drawn

from the origin to the plane
X+y+z=3is

(@ (0, 1, 2)
(b) (0, 0, 3)
(@ (1,1, 1)

(@ (1, 1, 3)

71. A vector 7 =ai +b_} is equally inclined

to both x and y axes. If the magnitude
of the vector is 2 units, then what are
the values of a and b respectively?

(@)

B | =

X
2)

| e |

c) 2,2

@ 2,2

FJY-D-MTC/66A

72. Consider the following statements in

- > 2
respect of a vector ¢ =a+b, where
—
|d|=|b|#0 :

1. Cis perpendicular to (?1’ —3).

2. 2 is perpendicular to (@ xb).

Which of the above statements is/are
correct?

(a) 1 only
(b) 2 only
() Both 1 and 2

(d) Neither 1 nor 2

73. If @ and 3 are two vectors such that

SHl TR 2
la +b|=|a -b|=4, then which one of
the following is correct?

(@) @ and b must be unit vectors.
(b) @ must be parallel to -I;
c) d must be perpendicular to 3

(d) d must be equal to 3

[P.T.O.
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74. R @, b ¥ 2 wwaea &, @ 76. 3R

Lo g =
lim

— =¥ - = ==]
(a x33}-4_c' +(5b x3c¢)-6a x—a x% -q®

R, @ a F AE I RY

Toras st 27
(@ -1
(@ 114 (b) 0
(b) 66 -
(@ 2
(¢ O
(d) -66 77. T T W %=x+1 W v A
(m/s #) ¥ qaferg | nfemm a1 1 5@ F0
T 24 m H g0 T FA | fran w3 (%
75. Frafafas wuAl = fEr fifg %) Tm?
1. 2 " alkwt #1 wlka PEea oft wm (@) 1n24
T A wiew @ B ki
(b) In5
2. @ AEE wiewl w1 AW PEEA F@W
T (1) B R (c) 2In5
3. 2 g% wkEl F ITed w1 9REm I (d 2In4
3R & GREr A T Feq B B
| 78. _JaXx s wua
I FYAl H ¥ PH-A G TE &7 0 flx)+ fla-x)
(@) ¥=e 1 32 fa)xa
(b) Fa@ 2 R 3 e
€ O
(c) ¥aw 13r3
a
d 1,233 @ 3
FJY-D-MTC/66A 28
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74. If 4, b and ¢ are coplanar, then what 76. If
s - o - = - =
is (2a x3b)-4c +(5b x3¢)- 6a equal to?

a* — x*®
lim =-1
x=a x% — g%
(@) 114
then what is the value of a?
(b) 66 (@ -1
() 0
(c) O © 1
(d) -66 e
77. A particle starts from origin with
a velocity (in m/s) given by the
75. Consider the following statements : equation % =x+1. The time (in

second) taken by the particle to

1. The cross product of two unit traverse a distance of 24 m is

vectors is always a unit vector.

(a) In24
2. The dot product of two unit (b) In5
vectors is always unity.
() 2In5
3. The magnitude of sum of two unit (d) 21n4
vectors is always greater than the
magnitude of their difference.
78. What is
Which of the above statements are Iﬂ fia X
not correct? "1 Lla - x)
equal to?
(@ 1 and 2 only
(@ a
(b) 2 and 3 only (b) 2a
(c) 1 and 3 only (@ ©
a
s § H
(d) 1, 2 and 3 @ 2
FJY-D-MTC/66A 29 Sl FRTO. -
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3 2
79. lim —X *X e d?
x=-1x2 43542

(@ O
(b) 1
(c) 2

(@ 3

80. 3f
[y + fl=xlax = [ glgdx

2, @ g(x) forae e 27
(@ f(x)

(b) fl=x)+ f(x)

(c) -f(x)

(d) 3ugw 3§ | H T

81. y=v16-x2, y>0 3N x-318 g Wag &
1 A% 41 7

(@) 16m o 3H1E
(b) 8n & TS
(c) 4n =i 3FTE

(d) 2n =t 578

FJY-D-MTC/66A

82. 3% y=-x3+3x2+2x-27 H fEwaw
yaura e T R?

(a) x=-1
(b) x=0
o) x=1

(d x=2

83. f&dt 24 cm &a R F Agw TH By TN
s R, e @@ o 60° # R\ Afteman
| B%el a1l 56 Bige <t S 'Y
(a) 443 cm
(b)) 243 cm

(c) 6 cm

(d) 3 cm

84. ARk f(x) =el*! 2, @ Fr=ferfas # A Fw-w
wa ?7

(@ fO)=1
() f'0)=-1
(© f'0=0

(d) f(0) % e T
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79. What is 82. The curve y=-x2 +3x2 +2x-27 has
the maximum slope at

R o
lim e
x—2-1x° +3x+2 (@) x=-1
equal to? (b) x=0
(@) O ¢ x=1
(b) 1
(d) x=2
€ 2
(d 3
83. A 24 cm long wire is bent to form
a triangle with one of the angles as
80. If 60°. What is the altitude of the
: triangle having the greatest possible
area?
[sUrea + flenldx = [° glxdx
(@) 443 cm
then what is g(x) equal to?
(b)) 23 cm
(@) f(x)
() fl-2+f(x e
(c -f(x) (d 3 cm

(d) None of the above

84. If f(x)=el*l, then which one of the
81. What is the area bounded by following is correct?
y=416-x2, y>0 and the x-axis?

(@) f'O)=1
(a) 16m square units
(b) fO)=-1
(b) 8n square units
(c) 4mn square units (e £ =0
(d) 2mn square units (d) f’(0) does not exist
FJY-D-MTC/66A 31 ‘ [ P.T.O.
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85. J‘_ﬁ"f_—m&im’é?

secx+tanx

(a) In(secx)+In|secx+tanx|+c
(b) In(secx)-In|secx+tanx|+c
(c) secxtanx-In|secx—tanx|+c

(d) In|secx+tanx|-In|secx|+c

86. j——dx——ﬁﬁaﬁsmé?

s¢=:02(teu'x"l X)

(a) sin"'x+c

(b)) tanlx+c
1

(c) sec™ x+c

(d) coslx+c

87, AR x+y=20 ¥ P=xy &, @ P W
Fftrpan | 1 87

(@) 100
(b) 96
(c) 84

(d) SO

FJY-D-MTC/66A

32

88. x=e W x % WNH sin(ln x) +cos(ln x) H
sraer (hafed) 0 @7

cosl-sinl
P

(@)

sinl-cosl
e

(b)

cosl +sinl
(c) TN

(d) 0

89. R x=elcost 3 y=e'sint ?, A t=0
w9 foprds e ¥7
dy

(a) O
(b) 1
() 2e
(@ -1
90. sin 2x-cos 2x F1 AtEwan TH 1 87
1
(a) 2
(b) 1

() 2

(d) 4
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85. What is 88, What is the derivative of

J- dx sin(ln x) + cos(In x)
sec x +tan x
with respect to x at x=e?

equal to? (@) cosl-sinl
(a) In(secx)+In|secx+tanx|+c e
(b) In(secx)-In|secx+tanx|+c (b) sinl —cosl
e
(c) secxtanx-In|secx—tanx|+c
cosl +sinl
(d) In|secx+tanx|-In|secx|+c (c) s e
d 0
86. What is @
i et 89. If x=e'cost and y=e'sint, th
m . X=e cos an y=e sili, en
sec
what isE at t =0 equal to?
ay
equal to?
(@ O
(a) sin"!x+e¢
(b) 1
(b) tanlx+c (©) 2e
(c) sec™!x+c (d -1

(d) cos!x+c
90. What is the maximum value of
sin 2x-cos 2x?
87. If x+y=20 and P=xy, then what is

the maximum value of P? (a) %
(@) 100 .
() 1
(b) 96
(c) 84 @ 2
(d) S0 : (d) 4
FJY-D-MTC/66A 33 [ P.T.O.
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91. x° ¥ UNE e* H JaHAS M1 &7

(a)

(b)

(c)

(d)

92. If? FE JaFA e f(x)

TEg o L LR
x--1 x2 -1 2

% e F 8, q 1in31f{x)fam%sm%?

3
(a) "‘a

(b) -1
(c O
(d 1

93. Ife oM

a+bx, x<l1

fm={5  x=1

b-ax, x>1

Had 2, A (a+ b) FAE 17
(@ 5
(b) 10
(c) 15
(d) 20

FJY-D-MTC/66A

94, %o f(x) =sinx % "ed # FfafEaa s

W{ﬁlﬂ'l'(‘éﬁﬁﬂl:
1. a0, m) # f(x) 998E B

2. (5?" gn)ﬁf(x)"srm%l

ISP el § | B /R w9 /R
(a) Fad 1

(b) Fac 2

(c) 13 23H

(d ad 13RI 2

95. Fe f(x) =3* &1 Wid #0127

(@) (== =9
(b) 0 =)
(c) [0,
(d) (- =) -{0}

96. AR TH IaHd THFEW F AUFH A

y? +2cy-cx+c? =0 ®, W& ¢ @ W=D
IR R, A awe gt H FfE = R?

(@ 1
(b) 2
(c) 3

(d) 4
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91. What is the derivative of e* with 94. Consider the following statements in

respect to x€? - respect of the function f(x)=sinx :
(@ & 1. f(x)increases in the interval (0, 7).
exe
Y 2. f(x) decreases in the interval
e Sn
= —, 37 |.
S x* (2 J
xe* . .
(c) - Which of the above statements is/are
2 correct?
X
@ £ - (a) 1 only
ex
) (b) 2 only
92. If a differentiable function f(x) satisfies (c) Both 1 and 2
. fix)+l. 8
e (d) Neither 1 nor 2
then what is xlifjlf (x) equal to? 95. What is the domain of the function
3 fl)=3%?
(@) w5
(@) (=3 =9
& ®) ©,)
cl -0
% © [0
@ 1
(d) (oo o3 - {0}
93. If the function
a+bx, x<1 96. If the general solution of a differential
fo=1s 255 equation is y? +2cy-ex+c? =0,
b-ax, x>1 where c is an arbitrary constant, then
what is the order of the differential
is continuous, then what is the value equation?
of (a+b)? (@ 1
' (@) 5
2
®) 10 (b)
¢ 15 () 3
(d) 20 (@ 4
FJY-D-MTC/66A 35 | BT.O,
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97. e T 100. je(m“”“"’*dxﬁ’sa%;m%?

d2y 4
x=1+—= X

2 a) —+c
\I 558 (a) 7

1 ura (fef) = 87 3

) A
@ i (b) 3 +c
Gt (c) Eﬂz
fc) 3 5
(@) = afenfia T 2 & x5 "
@ 5
08. fi=fafaa # A fre eaFa Wi =1 =H9H
T y=ae* +be * &7 101. N demslt ¥ w wgem ¥ R ¥ vaf ¥
dy Frefefaa al w faem Hifve
(@ —=+y=0 :
dx? 1. GHR 91y
%y 2. TUIRR WA
(b) =—-y=0
dx I A -1/ Wit e FoEm A
o /e R/&?
(cg —+y=1
dx? (@) Fad 1
@ %__y=o (b) ¥ 2
(¢) 1 3R 23
d @ 1dRTIA2
99, aHd FHIHW (@) i
ln[@]wq 102. @ Fot 3§ Friw fagm, @ R T
dx a4 g FAN: 30, 70 3R 50 Bl AR
51 8 91 27 : Emﬁ@ﬁﬁamﬁaﬁaﬁmm,
_ A FFE Saw! 1 G o= e
(a) e*+e¥=c
(@) 36°
{b) ex+y=c (b} 720
(c e*-e¥=c OGS B (c) 120°
(d e* ¥=c (d) 168°
FJY-D-MTC/66A 36
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97. What is the degree of the following
differential equation?

2

x= 1+%
(a) 1
(b) 2
() 3

(d) Degree is not defined

98. Which one of the following differential
equations has the general solution
y=ae* +be *?

2
(@) d—f +y=0
dx
(B ===

2 Y symi
(c) - +yY

@ 2L-y=0

99. What is the solution of the following
differential equation?

ln(%)+y=x'
(a) e*+e¥Y =c
(b) e**¥=c
(c) e*-e¥Y=c

(d}’_ e ¥=¢

FJY-D-MTC/66A

100. What is [el?1n %+ nx")gy equal to?

(a) £+c

(b) fé—+c
fc) —+c

(d —+c

101. Consider the following measures of
central tendency for a set of N
numbers :

1. Arithmetic mean

2. Geometric mean

Which of the above uses/use all the
data?

(a) 1 only

(b) 2 only

(c) Both 1 and 2

(d) Neither 1 nor 2

102. The numbers of Science, Arts and
Commerce graduates working in
a company are 30, 70 and 50
respectively. If these figures are
represented by a pie chart, then
what is the angle corresponding to
Science graduates?

(a) 36°
(b) 72°
() 120°
(d) 168°

[P.T.0.
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103. @AM @1 FaUdl 9l Rl SRERal 92 W

quid s oara & fag fedt @i fi
ARawal e SIgama J {1 =fee?

(a) 3maa H S8
(b) IFA F FAFA
(c) ma i =R

(d) a1 9RE™

104. TgHEY 0 Wad 8

(a) e Thel o TiEd A

(b) e Tty (ARAF) % Tied @
(c) Thet 3R geiferg I & Tadq &
(d) @ She, 7 @ qeferg F TRada A

105. f=fafaa anoft 198 w7 wiadl & g v

T el § 7l R gE H GiEnd s H
Syt R

"l F g& 1({2(3|4|5|6]|7

FRERAT 4 |133(76|50(|26| 8 | 1

74 s ) wifer #= 27
(@) 3
(b) 4
(c) 5

(@ 6

FJY-D-MTC/66A

106. afe n &

x5k Xp—k xg=k v Xq -k

o W M R, Sl k T aafes 9 e 8, @
Xy, Xg, X3, *+y Xp 1 HIEH 1 R7

(@) M
() M+k
(c) M-k

(@) kM

107. = @Fl 73, 85, 92, 105, 120 # FH

meg § Tt 1 drTee w1 'Y
(@ -2
(b) -1
(¢ O

d 5

los.maﬁﬁ?x?ﬁmﬁ@!ﬁmaﬁn‘ﬂ

HM 2 3l y 371 GM ®1 afe 5x =4y ?, @
Frfofaa # ¥ SA-T1 wd 27

(a) Sm=4n
(b) 2m=n
(c) 4m=5n

(d) m=4n
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103. For a histogram based on a frequency
distribution with unequal class
intervals, the frequency of a class
should be proportional to

(a) the height of the rectangle
(b) the area of the rectangle
(c) the width of the rectangle

(d) the perimeter of the rectangle

104. The coefficient of correlation is
independent of

(a) change of scale only
(b) change of origin only

(c) both change of scale and change
of origin

(d) neither change of scale nor
change of origin

105. The following table gives the frequency
distribution of number of peas per
pea pod of 198 pods :

Number of peas| 1 |2 (3|4 | 5|6 |7
Frequency 4 [33(76|50(26| 8 | 1

What is the median of this
distribution?

(a) 3
(b) 4
(¢ S

@d 6

FJY-D-MTC/66A

106. If M is the mean of n observations

xy -k, x5 =k, x3 -k, -+, x, -k, where
k is any real number, then what is
the mean of x;, x5, x5, -, X, ?

(@ M
(b) M+k
(c) M-k

(d) kM

107. What is the sum of deviations of the

variate values 73, 85, 92, 105, 120
from their mean?

(@ -2
(b) -1
(c) O

d 5

108. Let x be the HM and y be the GM of two

positive numbers m and n. If 5x =4y,
then which one of the following is
correct?

(@) Sm=4n
(b) 2m=n
(c) 4m=5n

(d m=4n

[ P.T.O.
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109. 7R fEdt sREwar §e4 H W 100 ® 3N 112. 12 dawit %1 W 75 ¥ AR A Jgui w4

ﬁamgwhms*%%,a’rmwmw%? Ry < &, @ A9 Vit F A 65 RN TWT
U il T W H=T 87
(@) 2025
(@) 250
(b) 450
(© 45 (b) 125
(d 45 (c) 120
(@) st twet % o Ruifa T e
110. 7H < @ Tzl A 3t B @ vER & AL
PA) =L ¥k PB)= M ¥ Frfofea & @
-9 GE &7
113. aR @i x(x+1)+1=0 F T T k B,
(a) P(A]B)<L+§:"1 N T TEU I 1 R7
(@ 1
L+M-1
(b) PA|B)>=—F— b) K
©) k2
) Plam sk
M
(d) -k?
L+ M-1
(@) P(A|B)= -

114. d&it F TH GYEA F R WA F1 IR
10 % ¥4 & foFn v 21 AR TR JEW x;

ﬁsx;‘ﬁuﬁmﬁaﬁﬁmm,amm
111, fr=fifea denst % fre agem & fog @,

e s ages () T 7 T A RIS

@ 12, 12, 12,12, 24 (@) 810

(b) 6, 18, 18, 18, 30 (b) 900

(c) 6,6, 12, 30, 36 (c) 30000

(d) 6,6, 6, 12, 30 (d) 81000
FJY-D-MTC/66A 40
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109. If the mean of a frequency distribution 112. The mean of 12 observations is 75.

is 100 and the coefficient of variation If two observations are discarded,
is 45%, then what is the value of the then the mean of the remaining
variance? observations is 65. What is the mean
of the discarded observations?
(@) 2025
(a) 250
(b) 450
(©) 45 (b) 125

(d) Cannot be determined due to
) 110. Let two events A and B be such that insufficient data
P(A)=L and P(B)= M. Which one of
the following is correct?
113. If k is one of the roots of the equation

(@) P <cLEM1 x(x+1)+1=0, then what is its other
M root?
(b) p(AIB);ﬂ‘_l (@) 1
M
b7 (b) -k
L+M-1
(¢ P(A|B)2 ——— (c) k2
M
L+M-1 cdiae
.+. —
d) PA|B)j=s——=
(d) P(A|B) Iv;
114. The geometric mean of a set of
observations is computed as 10. The
111. For which of the following sets of geometric mean obtained when each
numbers do the mean, median and observation x; is replaced by C’-x:1 is
5 mode have the same value?
1
(@) 12, 12, 12, 12, 24 s
: (b) 6, 18, 18, 18, 30 (b) 900
(c) 6,6, 12, 30, 36 (c) 30000
(d) 6,6, 6, 12, 30 (d) 81000
FJY-D-MTC/66A 41 [ P.T.O.
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115. R P(AuB):%, P(Ar\B)=% ain 118.Q$ﬁqaézqﬁ,mw§aﬂtwg%|w

PiA) =1 2, e & -/ 8 i & 5 g W X =2 A7
A (@) %

1. A 3R Bw@da 9 €| 4

2. A 3R BWER svafsid geand (b) e

H fow e 2 w1 @M W= wd IW g i 25

(a) ¥ 1 54

(b) a2 (@ %

(c) 1 3% 23

(@) A1 MAA2 119. 7R wEE 10, 12, 13, 15, 15, 13, 12,

10, x %1 9ga 15 B,  x F A F1 7
116. 15 d&mil F T ag=d & 3Nwa F e

st %, frg 9 § a9 g1 e ? 6w @) 39
Jeor F <EE F WH W T A 3 F 96 8 (b) 12
foa T a1 Jgw B W[ T F R, (c) 13
st (d 15
(@) 57 e
120. 3R A 3k B 5 w6 R E 5 P(A4) = >
10 4
(b) —- 5§ S .
3 a?rtP(B)=§,a‘lﬁ=:ff%~rﬁaamﬂqtﬁ?rr{
10
(c) —3—‘€I‘?.’GITIIHT Fifve
(d) S0 "2 STem )5 P(AuB)m:Eanrm%%i
5
117. @ R %) 9 SR 97N @ 21 AR E R P 2. P(AnB) Eﬁ““&wmg%'
FY: UEd 3R g v (<) # A (*e)
AR $ weT W suia &, @ PEUF) fees 37 oAl # |/ PH-|/8 wd R/R7
ELCI ] (@) Fad 1
(a) ;} (b) % (b) FHaA 2
3 1 (c) 1 3 23F
L @ 3 d Fd1dAA2
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115. If P{AUB)=§, P(A(‘\B)=% and 118. In a binomial distribution, the mean

SN is - and variance is ~5— What is the
P(A) ==, then which of the following 3 9
2 probability that random variable

is/are correct? X=2?
1. A and B are independent events. (a) >
36
2. A and B are mutually exclusive 25
events. : 27
(b) 3%
Select the correct answer using the 25
code given below. (c) 54
(a) 1 only 25
fd)e s
(b) 2 only 216

(c) Both 1 and 2
119. If the mode of the scores 10, 12, 13,

(d) Neither 1 nor 2 15, 15, 13, 12, 10, x is 15, then
what is the value of x?
116. The average of a set of 15 observations (@ 10
is recorded, but later it is found that
for one observation, the digit in the (b) 12
tens place was wrongly recorded as (c) 13
8 instead of 3. After correcting the d 15
observation, the average is
(a) reduced by 1 120. If A and B are two events such that
3 PlAj=2 and PB)=>, then consider
\ 10 » -
(b) increased by T the following statements :

10 1. The minimum value of P(Au B)
(c) reduced by — y
3 is 7

(d) reduced by 50 2. The maximum value of P(An B)

o )
117. A coin is tossed twice. If E and F # 8

denote occurrence of head on first

toss and second toss respectively, Which of the above statements is/are

then what is P(E U F) equal to? correct?
1 1 (a) 1 only
W'a i3 (b) 2 only
3 1 () Both 1 and 2
(¢ - (d = ;
i 3 (d) Neither 1 nor 2
FJY-D-MTC/66A 43 RTD!
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DO NOT OPEN THIS TEST BOOKLET UNTIL YOU ARE TOLD TO DO SO

T.B.C. : FJY-D-MTC Test Booklet Series
Serial No.
1333833 TEST BOOKLET
MATHEMATICS
Time Allowed : Two Hours and Thirty Minutes Maximum Marks : 300

4.

INSTRUCTIONS

. IMMEDIATELY AFTER THE COMMENCEMENT OF THE EXAMINATION, YOU SHOULD CHECK

THAT THIS TEST BOOKLET DOES NOT HAVE ANY UNPRINTED OR TORN OR MISSING PAGES
OR ITEMS, ETC. IF SO, GET IT REPLACED BY A COMPLETE TEST BOOKLET.

. Please note that it is the candidate’s responsibility to encode and fill in the Roll Number

and Test Booklet Series A, B, C or D carefully and without any omission or discrepancy at
the appropriate places in the OMR Answer Sheet. Any omission/discrepancy will render
the Answer Sheet liable for rejection.

You have to enter your Roll Number on the Test Booklet in
the Box provided alongside. DO NOT write anything else on
the Test Booklet.

This Test Booklet contains 120 items (questions). Each item is printed both in Hindi and
English. Each item comprises four responses (answers). You will select the response which you
want to mark on the Answer Sheet. In case you feel that there is more than one correct response,
mark the response which you consider the best. In any case, choose ONLY ONE response for each
item.

. You have to mark all your responses ONLY on the separate Answer Sheet provided.

See directions in the Answer Sheet.
All items carry equal marks.

Before you proceed to mark in the Answer Sheet the response to various items in the Test
Booklet, you have to fill in some particulars in the Answer Sheet as per instructions sent to you
with your Admission Certificate.

After you have completed filling in all your responses on the Answer Sheet and the examination
has concluded, you should hand over to the Invigilator only the Answer Sheet. You are permitted
to take away with you the Test Booklet.

Sheets for rough work are appended in the Test Booklet at the end.

. Penalty for wrong answers :

THERE WILL BE PENALTY FOR WRONG ANSWERS MARKED BY A CANDIDATE IN THE
OBJECTIVE TYPE QUESTION PAPERS.

(i) There are four alternatives for the answer to every question. For each question for which a
wrong answer has been given by the candidate, one-third of the marks assigned to that
question will be deducted as penalty.

(ii) If a candidate gives more than one answer, it will be treated as a wrong answer even if one of
the given answers happens to be correct and there will be same penalty as above to that
question.

(iii) If a question is left blank, i.e., no answer is given by the candidate, there will be no penalty
for that question.

DO NOT OPEN THIS TEST BOOKLET UNTIL YOU ARE TOLD TO DO SO
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